EECSs 210 W91 (25 points)
midterm#2 (y;qicly) FoBiem ¥ 1

‘o (a) Acos(10t+8)=5cos (10t+45°) +5cos (10£+1359)410 (2) 1/254n (10t)
Find A.

ALE = 5.45% 5.135°4 107 L-90°
R *(S(Z +j9V2)+ (-7t $V7) 10
S 2 1 2

= E Im
ﬂﬂﬂffr')t ‘}-::- I:lhhﬂ'iﬂl' foim ’ -Fﬁd v
. i 5° y5°
¥ then 0dd Phnams_ > Re

Find muanﬁude of fEEtlHﬂn} pha.acr*

10(b) *;

x+jy = 433 +I2(L414 +j L414)-2121 + j 2.121)
(25-]433)(3 -] 5.196)

(50300 (£ 300°)
f - 'E{w‘fﬂ -J '5
x = 'EE{" s E
Do CDMP\AQ{"ID;'
ug'ma pclar
form.
: 30 .
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Froblem § 2
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Consider the following eircuit. LERIIEY Seot 5
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©(a)  Find 1(t). s E!;I = 20 LY5 mA
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19{kt) Find the average power supplied by the voltage source.
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£(c) Sketch an equivalent circuit when ®@—0.
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Problam § 3

Consider the Op-Amp circuit shown below.,
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Combine Eq5- (5)8(3)
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Problem # 4

Consider the circuit shown below. E
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¢ (a) Find the Thevenin equivalent voltage wyp.
Z,: mi [|1ka = 500 4500 A
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(¢ (k) Find the Thevenin equivalent impedance Zep.
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5(c) A load impedance Zy=S500+j1500 Q is connected across terminals
a and b. Find the power, Py, delivered to the load.

.. T _
L= | OLbYyw =t Zrig, - 03B3NIBA3
P LILIRE 24606 xig") 500



